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Total Marks: 70 Marks

" Tanta ' : . ) Faculty of Engineering
University L ke
[ Course Statistics and Quality Academic Year ._‘ .
Title - Control 2021/2022 Second | Course-Code MPD4234
Year/ Level | Fourth Year Semester Exam : r.
Date : _15-06-2022 - No. of Pages (2) Allowed time- 3 hrs-
Remarks: (answer all the following questions)

Question Number (1) (20 Points)

a) A sample of 30 electrical components was tested by operating each component continuously until
it failed. The time to the nearest hour at which each component failed was recorded as follow
31, 41, 46, 33, 44, 51, 56, 63, 71, 71, 62, 63, 54, 53, 51, 43, 36, 38, 54, 56, 66, 71, 74, 75, 46, 47,
59, 60, 61, 63 | |
I. Make a frequency table for this data usmg open class intervals with width 5
II. Draw the frequency histogram, frequency polygon and O-give.
III. Find mean, standard deviation, median and mode of the data in the grouped frequency
" distribution. ' ' ‘

b) let A and B are two events with P(A) = % ,P(B) = % ,and P(AN B) = % , find:
P(A U B), P(A€ n BS), P(B/A), P(A/BS).

¢) A city installs 2000 electric lamps for street lighting. These lamps have a mean burning life of
165 hours with a standard deviation of 10 hours. The normal distribution is a close approximation
to this case, Find:
I.  Probability that a lamp life time is greater than 190 hours.
II. Probability that a lamp life time is at most 160 hours.
ITI.© Number of lamps, their life times between 140 and 180 hours.

d) A random sample of 30 items is drawn from a lot.. If the lot is 10% defective, determine the.
probability that such sample will contains: :
I. No defectives.
II. More than two defectives.
IIL. the mean value of defectives.

Question Number (2) . . : (20 Points)

a) It is known that of the articles produced by a factory, 20% come from Machine A, 30% from
Machine B, and 50% from Machine C. The percentages of satisfactory articles among those
produged are 95% for A, 85% for B and 90% for C. An article is chosen at random.

I. 'What is the probability that it is satisfactory?
II. Assuming that the article is satisfactory, what is the probability that it was produced by
Machine A?
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